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PHILOSOPHY
Paper — Il

1. The distinction between Vyavaharika
and Parmarthika was introduced by
(A) Nagarjuna
(B) Sankara
(C) Madhva
(D) Nimbarka

2. Akasa is the prime element in
(A) Sankhya
(B) Carvaka
(C) Buddhism
(D) Jainism

3. Atman is identical with Brahman in
(A) Yoga
(B) Dvaita Vedanta
(C) Advaita Vedanta
(D) Visistadvaita Vedanta

4. Assertion A : Pyrysa is'the eternally
pureand transcendental
consgiousness.

Reason R: Purusa appears changing

5. Arrange the following dravyas in
sequence
) Akasa
Il) Prithwvi
) Vayu
V) Aghi

Code:

(A) 1,00V
(B) I, 1,1V, 1
(C) I, 1, v
(D) 1, IV, 101,11

6. Match the following theories of causality
using the code given below :

Listl Listll
) Prakrit 1) Advaita
Parinamavada Vedanta

I) Vivartavada 2) Sankhya
) Satkaryavada 3) Nyaya
IV) Asatkaryavada 4) Visistadvaita

when Chitta appears in it. g0
Code: | I i v
(A) Baoth (A) and (R) are correct (A) 2 1 4
(B) (A) is correct but (R) is wrong (B) 1 3 2
(C) (A) is wrong but (R) is correct (C) 3 2 4 1
(D) Both (A) and (R) are wrong (D) 4 3 2 1
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7. Being is the first category in 11. Assertion A : | can not catch myself
(A) Socrates distinect from the
(B) Plato perceptions.
(C) Hegel Reason R There is no permanent
(D) Kant personal identity.
8. Four fold causality was proposed by Code .
(A) Kant (A) Both (A) and (R) are false
(B) Descartes (B) (A) is true but (R) is false
(C) Hume

(C) Both (A) and (R) are true

(D) Aristotle
(D) (A) is false but (R) is true

9. ‘Substance is the subject of all

predicates’ is said by 12. Match the following theories of reality

using the code given below :

(A) Plato
(B) Locke List| List Il
(C) Leibniz
(D) Aristotle ) Thales 1) Forms
Il) Heraclitus 2) Water
10. Arrange the following theories of self in ) Plato 3) Monads
saquance IV) Leibniz 4) Fire
I . _
) Nimbarka P
I) Madhva
| I I \Y
lll) Ramanuja
p (A) 2 4 1 3
IV) Sankara
(B) 1 2 3 4
Code :
(A) IV, 1IL, 11, | (B) 1L, IV, 11, | €4 2 1 3
(C) LI, IV (D) 1, 1,1V, 1 (D) 3 4 2 1
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13. Which one of the following does not
accept ﬁam_a_as pramana ?
(A) Advaita Vedanta
(B) Visistadvaita
(C) Dvaitadvaita

(D) Buddhism
14. Assertion A : Cognition is never

invalid. Error means
incomplete and

imperfect truth.

Reason R: The way to remove error
is to acquire more perfect
knowledge.

Code :

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (A) is false but (R) istrue

15. Arrange the following pramanas in
sequence
) Sabda
Il) Anuman

) Pratyaksha

IV) Upamana
Code"

(A TV, |
(B) M, 11,1, 1V
(€)1, 1,1, 1V
(D) IV, L]

16. Match the following theories of khyatic
using the code given below :

Listl Listll
I) Anyatha-khyati 1) Kumarila
Il) Akhyati 2) Advaita
Vedanta
IIN) “Viparitakhyati 3) Nyaya-
Vaisesika
IV) Anirvachaniyakhyati 4) Prabhakara
Code :
| I ] v
(A) 2 1 4 3
(B) 4 3
(C) 3 4 1 2
(D) 1 2 3 4

17. ‘Truth'is an operativeterm inknowledge.
It is advocated by
(A) Plato
(B) Descartes
(C) Locke
(D) All

18. The rationalist way of knowing is
through

(A) Reason
(B) Sensibility
(C) Intuition

(D) Imagination
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19. Assertion A : ‘An idea is true when it

corresponds to the fact
which it denotes’.

Reason R: ‘Since everything
changes, the
correspondence of an
idea to the fact is always
transitory.

Code :

(A) Both (A) and (R) are true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false

20. Arrange the following books in
sequence using the code given below :

l) Discourse on Method

Il) Phenomenology of Spirit
lIl) Treatise of Human Nature
IV) Monadology

Code :
(A) 11,1011, 1V (B) I, IVl Il
(C) IV, L, 1,1 (D) 1, 1, v

21. Match the following theories. of truth
using the code given below :

Listl List Il
l) Truth is Universal 1) William
James

Il) Cleanness and 2) Locke

Distinctness

ll) Coherence 3) Descartes

IV) Pragmatic Theory  4) Plato
Code :
| I 11 v
(A) 4 3 2 1
(B) 3 2 4 1
(C)2 1 3 4
(D) 1 2 4 3

22. Nyaya has propounded pratyaksa on
(A) Savikalpaka Pratyaksa
(B) Nirvikalpaka Pratyaksa
(C) Alaukika Pratyaksa

(D) Laukika Pratyaksa

23. Buddhism has accepted
(A) Pratyaksa
(B)_Anumana
(C) Pratyaksa and Anumana
(D) Sabda

24. Assertion A : Perception is
non-erroneous cognition
produced by the
interaction of sense-

organs with the object.

Reason R: Divine and Yogic
perception has no
objects.

Code:

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)istrue but (R)is false

(D) (A) is false but (R) is true
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25. Arrange the following schools which

advocated Pratyaksa in sequence

[) Nyaya
l) Carvaka
) Jainism

IV) Buddhism
Code:
(A) 1,101V 1 (B) 11,1V, 1L |

(C) L1, v (D) 10,0,

26. Match the following theories using the
code given below :

1) Nyaya

2) Buddhism

l) Pratyaksa
Il) Anumana and
Pratyaksa

lll) Pratyaksa, Anumana 3)Advaita

Sabda Vedanta
IV) Vyapti 4) Carvaka
Code:
| I ] v
(A) 4@ b2 3 1
B’p2 " 3 4 1
(©) 1 2 3 4
D)3 1 2 4

27. Miskamakarma means
(A) No action
(B) Mo fruits
(C) Action butno fruits

(D) Actionwithout attachment

28. Purusharthas have been divided into
(A) Dharma, Artha, Kama
(B) Abhyudaya and Nihshreyas
(C) Kama, Artha, Moksha, Dharma

(D) éreyas and Prayas

29. Assertion A : Right faith, right

knowledge and right

conduct are the triratnas
in Jainism .

Reason R : Triratnas create path for
liberation.

Code :

(A) Both (A) and (R) are false
(B) (A)istrue and (R) is false
(C) Both (A) and (R) are true

(D) (A) is false but (R) is true
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30. Arrangethe Brahma viharas in sequence

(A) Karuna, Mudita, Maitri, Upeksa

(B) Mudita, Maitri, Karuna, Upeksa

(C) Maitri, Karuna, Mudita, Upeksa

(D) Upeksa, Mudita, Karuna, Maitri

31. Match the following theories using the

code given below :

) Paficasila
I) Rta

lll) Lokasamgraha

IV) Rna
Code :

I Il
(A) 4 3
(B) 3 2
O 3
(D) 1 2

1) Gita

2) Vedic
injunctions

3) Caosmiec
moral order

4).Buddhism

32. Cardinal virtues were introduced in

(A) Republic
(B) Nichomachean Ethics
(C) Bible

(D) City.of. God

33. Justice is.required to

(A)-Deter the criminal
(B) Create harmony in society
(C) Punish the offenders

(D) All

34. Assertion A : ‘Freedom and

responsibility are the two

sides of the same coin’.

Reason R : 'One can not be held
responsible unless, one

has freedom to act'.
Code :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

-
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35. Arrange the following texts in sequence

l) Perpetual Peace
Il) Idea of Justice
lll) Theory of Justice

IV) The Republic

Code :

(A) IV, 10,
(B) IV, 1, 1L
(C) LIV
(D) WAL LIV

36. Match the following views using the

code given below :

1) Aristotle
2) Plate

) Good is indefinable
Il) Freedom from and
freedomto
ll) Justice is to pay the +8).Berlin
dues
IV) Endaemonia is the . 4) Moore

golden-mean
Code:
| I ]| v
(A) 2
(B) 1
(C) 4
(D) 3

s TR % TR % T
BN W W
.

37. Kant's moral theory is known.as
(A) Utilitarianism
(B) Deontological
(C) Hedonism
(D) Communitarianism

38. Human rights are centered around
(A) Society
(B), Community
(€). State
(D) Individuals

39. Assertion A : Feminism is the
movement aimed
against patriarchy.
Feminism requires
women's human rights.

Reason R :

Code :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

40. Arrange the following in sequence using
the code given below :

I) Utilitarianism
Il) Universal Declaration of Human
Right
lll) Categorical Imperative
IV) The Second Sex

Code :

(A) 10,1
(B) 11,1V, 1
(C) LN, v
(D) LA, IV,

=
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41. The statement “Rama is intelligent
and Gopal is hardworking” can be
symbolized in propositional calculus in
the following way

(A) r &g, (B) R&G
(C) Ir&Hr (D) r&g

42. The following is the argument form of
the statement “If it rains then the roads
are wet",

(A) p=q B) P>Q
Cp=q (D) P=Q
43. Quantify the statement “ Some boys are
not courageous”.
(A) ¥,.(B, =~C,)
(B) 3,(B, o~C,)
(C) 3,(B,&~C,)
(D) v.(B,&~C,)
44, An axiom is consistant if

(A) theorems of one axiom ¢an be
derived from other axioms

(B) no theorems can bederived from an
axiom

(C) an axiom is‘derived from another
axiom

(D) the theorems derived from one axiom
cannot be derived from any other
axiom

45. In the square of opposition | and O
propositions are

(A)Contraries
(B)»Sub-Contraries
(C) Subaltern

(D) Contradictories

46. In axiomatic system an.axiom can be
(A) proved
(B) disproved
(C) both proved and disproved

(D) treated as an established truth

47. The statement ‘Sugar is sweet’ can be
symbolized in quantification logic in the
following way

(A) Vx(Sq & Sp)

(B) Jp)(Sx = W)
(C) Vi(Sx > W)
(D) Jp)(Sx & W)

48. The following is the rule of material
equivalence

(A) (poa)=(pva)
(B) (pva)=(~pva)
(C) (p=a)=(~pva)
(D) (pva)=(p=q)

49. Unlike propositional calculus, predicate

calculus deals with
(A) the structure of a proposition
(B) the validity of a proposition
(C) the truth of a proposition
(D) the internal structure of a

proposition

-
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50. If there are three variables in a given
argument, how many rows exist in a truth
table ?

(A) 4
(B) 6
(C) 8
(D) 10

51. The number of Vedangas are
(A) Three
(B) Four
(C) Five
(D) Six

52. Name the Indian scholars who

translated Dhammapada into English.
(A) Vivekananda

(B) Aurobindo

(C) Radhakrishnan

(D) Ramakrishna Paramahamsa

53. The ethical framewaork of Dhammapada
is similar torithat of
(A) Bible
(B) Quran
(). Guru Granth Sahib
(D). Tirukkural

54. Assertion A: Sabda isnotaccepted

by Carvakas.

Reason R : Sabda is based on

Anumana.
(A) Both A and R are true and R is the
gorrect explanation
(B) Both A and R are true, but R is not
the correct explanation
(C) Ais true but R is false

(D) Ais false but R is true

55. Identify the correct sequence as
chronological order.
[) Aurobindo
Il) Vivekananda
lll) Sankara

IV) Chaitanya

Code :
(A) 1,11, 10, 1V
(B) 11,111, 1,1V
(C) M, IV, 11,1
(D) IV, 1L 11,1

=
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56. Match the item in one list with an item in

the other.
List! Listll
) Jiva 1) Jada
Il) Prakrti 2) Adheya
) Adhara 3) Sesi
V) S/ega 4) Atman
Code :
| I I \Y
(A) 4 3 2 1
(B) 4 1 2 3
(C) 4 2 1 3
(D) 4 3 1 2
57. Sufi Islam and Nirguna_Bhakti

movements influenced one of the

following religions.

(A) Bahai

(B) Brahmakumaris

(C) Sikhism

(D) Kabir-Panth
58. |dentify the deity associated with the

rathayatra.

(A) "Krishna

(B). Rama

(C) Durga

(D) Jagannath

00T
59. Assertion A: David is.a Christian

Reason R : David recently had his

bar-mitzvah.
Code :
(A) Alis true and R is true
(B). Aisfalse and R is false

(C) If A is true then R is false and vice

versa

(D) Ais false but R is true

60. Identify the correct sequence
chronologically
l) Hind Swaraj
ll) Satya Sodhani
) Navajivan

IV) Satyagraha in South Africa

Code :

(A) 1, 11,1V, 11
(8) 1,111, IV
(C) 1,101, 1V, 1
(D) v,

-
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61. Match the following :

) Judaism 1) Easter
I) Christianity 2) Sabbath
) Islam 3) Baisakhi
IV) Sikhism 4) Hijra
Code :
I I I Y

(A) 1 2 3 4

(B) 2 3 4 1

(C) 3 4 1 2

(D) 2 1 4 3

62. Who wrote Gita-Rahasya ?
(A) Gandhi
(B) Tilak
(C) Sankara

(D) Dhyanesvara

63. What does Nietzsche call “the secret
hatred and envy of all these more

favoured thaneoneself " ?
(A) Resentment
(B). Renunciation
(C)“Sublimation

(D) Denunciation

64. A : Language consists of atomic
propositions.

R : Propositions are composed of
simple.facts known as atomic
facts.

Agcording to logical atomism,

(A).Both A and R are not true

(B) Both A and R are true, and R is the

correct explanation
(C) Aistrue and R is false

(D) Ais false and R is true

65. Identify the correct chronological order
l) Bertrand Russell
Il) Ludwig Wittgenstein

lll) Rudolph Carnap

IV) A.J. Ayer
Code :

(A) 11,10, 1, IV
(B) 1, 1V 111
(C) 1,11, 111, IV
(D) IV, 1L, 11, 1

=
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66. Match the following :
Listl Listll

[) Carnap 1) Logical Analysis

I} Austin 2) Chinese room
argument
lll) Searle 3) Sense and reference
IV) Frege 4) Ordinary language
Code :
I I 1l v

(A) 1 2 3 4

(B) 2 3 4 1

(C) 4 3 2 1

(D) 1 4 2 3

67. Name the philosopher who coined.the
term “phenomenological epache”.
(A) Heideggar
(B) Merleau-Ponty
(C) Dilthey
(D) Husserl

68. “l think something”. This statement
refers to
(A) Caognition
(B)«Phenomenon
(C)y Fundamental ontology
(D) Intentionality

69. Given below are two_statements of
Maurice Merleau-Ponty. One is an
assertion A and thecother R is the
explanation. Which of the following
options are gorrect 7

A “lammy body".

R : Oneecannot separate oneself as
a mental subject and a bodily
object.

Code :

(A) A is right but R is not the correct
explanation

(B) Both A and R are incorrect

(C) Ais incorrect but R is correct

(D) Both A and R are correct and R is
the correct explanation

70. Identify the correct sequence as the

chronological order of a set of concepts.
) Gaudapada
1) Sankara

Iy Vacaspati

V) Govinda

Code :

(A) LIV L

(B) LN, IV

(C) NIV, Il

(D) IV, 1L

-
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71. Match each item in List | to an item in

Listll.

Listl Listll
) Sankara 1) Kalyana Gunas
) Ramanuja 2) Svarupa Jfiana
lIl) Badarayana 3) Karma Jfana

Samuccaya

IV) Mandana Misra 4) Brahma-Sutra

Code :

I Il Il %
(A) 2 4 3 1
(B) 2 1 4 3
(C) 4 1 2 3
(D) 1 2 3 4

72. Moksha in yoga is called
(A) Sayujya
(B) Apavarya
(C) Kaivalya
(D) Aparoksa

73. The mostimportant ‘vrata’ in Jainism is
(A) Asteya
(B)“Aparigraha
(C) Satya
(D) Ahimsa

74. Two statements are given below, one

labeled Assertion (A) and the Reason (R).

A : Deductive inference is vitiated by
the fallacy of Petitis principi.

R : Itis merely an argumentin a circle
since the conclusion is already
contained in the major premise,
thevalidity of which is not proved.

In.the eontext of the above two claims
of the Carvaka, identify the correct
answer.

(A) A and R are both incorrect

(B) A is correct, but R is incorrect

(C) Both A and R are correct, but R is
not the correct explanation

(D) Both A and R is correct and R is the

correct explanation

75. Arrange the following in the correct

order. Use the code given below :
l) Antaryami
I) Para

i) VyTha

IV) Vibhava

(A) 1,00V

(B) 1,11V, 1

(C) I, 1v, 1,1

(D) IV, 1,100

=
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ANSWERS KEY — PHILOSOPHY- PAPER —III

(SUBJECT CODE-18)

Q.No | KEY | Q.No | KEY | Q.No | KEY
1 A 26 A 51 B
2 A 27 D 52 C
3 G 28 B 33 D
4 A 29 C 54 A
3 A 30 C 53 C
6 A 31 A 56 B
7 C 32 B 57 C
8 D 33 D 58 D
9 D 34 A 39 &
10 A 35 B 60 A
11 C 36 C 61 D
12 A 37 B 62 B
13 D 38 D 63 A
14 B 39 A 64 B
15 B 40 & 65 C
16 A 41 B 66 D
17 D 42 A 67 D
18 A 43 C 68 D
19 A 44 D 69 D
20 B 45 B 70 A
21 A 46 D 71 B
22 A 47 C 72 C
23 C 48 C 73 D
24 A 49 D 74 D
25 A 50 C 75 A
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